A & 0l & AF & F Al M
2008 = =0l & L BHS|A
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oot eSSt MEXNR (e & J)
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
Oll At S kAl 57,388, 253 54,282, 593 3,105, 660
AHME2L 24, 269, 940 19, 784, 404 4, 485, 536
2Agst HAXA 24, 269, 940 19, 784, 404 4,485, 536
AEMER2YG F& 195, 940 156, 780 39, 160
201 LEer2gH| 108, 000 98, 280 9,720
01 AtS2e2ldl 108, 000 98, 280 9,720
OJI2# E AR HI = 60, 000
OBy - 25, 000
ON&adg R E2X 24| = 23,000
202 04d| 43, 700 43, 700 0
01 =LHObI 43, 700 43,700 0
o - 43,700
203 PR F=ZId| 16, 400 14, 800 1, 600
03 AIMFXHZZ=LZIHI 16, 400 14, 800 1, 600
OXNYMHE2E AIMFX = 16, 400
403 XtXISHMS K201 S 17, 840 0 17,840
02 3J|12SOICHSHHE At HI 17, 840 0 17, 840
ONYMNEEEAAHS I ES = 17, 840
405 RHakE S| 10, 000 0 10, 000
01 TaEESFHSHI 10, 000 0 10, 000
OASRA A 2 AREE Wi = 10, 000
ANZME X2 22, 400, 000 17,337, 624 5,062, 376
308 AXIHKMSOIH 22, 400, 000 17, 337, 624 5,062, 376
04 MEEHZ 22, 400, 000 17, 337, 624 5,062, 376
OANHBNWEEES = 22, 400, 000
& oA FA 1,674,000 2, 260, 000 A 586, 000
201 et FH| 300, 000 400, 000 A 100, 000
01 AR &eld] 200, 000 300, 000 A 100, 000
OEFsord e F=ZX(PCD) = 100, 000
OEFSAARFA S22 S AHI(PAL) = 100, 000
03 EArEIl 100, 000 100, 000 0
O FSotAl 23 SAL2 S HI(PCL) = 100, 000
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e RSt HENA (e &3
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2
202 044l 300, 000 400, 000 2100, 000
01 =LHHYI 300, 000 400, 000 A 100, 000
OE&FS A RFX(POD) = 300, 000
203 Z R =&l 50, 000 260, 000 A 210,000
03 AIMFXHRZ=ZIHI 50, 000 260, 000 A 210,000
OFLR0asE L SHorPR2FX(PAL) = 50, 000
301 et a3 50, 000 50, 000 0
10 dAAHIZAZ 50, 000 50, 000 0
O AIAHI B A= (PCDL) = 50, 000
307 QI2t0| & 974, 000 1, 150, 000 A176,000
03 AHMNEERZ 974, 000 1, 150, 000 A 176,000
OAMIHNEEZZXE = 974, 000
:INs]}s]! 29, 153, 257 30, 634, 869 A1,481,612
oldigl 28 29, 153, 257 30, 634, 869 A1,481,612
olglgl 22 29, 153, 257 30, 634, 869 A1,481,612
801 0llldl 29, 153, 257 30, 634, 869 A1,481,612
01 ollglyl 29, 153, 257 30, 634, 869 A1,481,612
ooyl gl = 29, 153, 257
HE2IZHI(0AE S 2ta) 57,120 55, 320 1, 800
ol 2| 47, 400 45, 600 1,800
FA2IELRFEY| 47, 400 45, 600 1,800
203 LR F=&H| 4,200 4,200 0
04 BEA2IHRF=ZXUI 4,200 4, 200 0
(O Fag=g= g g~ = 4,200
204 XA H| 43, 200 41, 400 1,800
03 E3ge=-dHa=| 43, 200 41, 400 1,800
Otlatg g2l = 43, 200
JlE23dl 9,720 9,720 0
JIE2Ztl 9,720 9, 720 0
201 LEet2g| 9, 720 9, 720 0
01 Ar22te2ldl 9,720 9,720 0
OAtR2teldl = 9,720




HAHEHAHKS (e &3
SH-FHH.G(8H) - HRANY - BHES 01l &F o Shitr bl D=2

HRES(0 A 2A) 3,907,936 3, 808, 000 99, 936

LHEAHH K= 3,907, 936 3, 808, 000 99, 936

SIS U=z OlAtaet 2,607,936 2, 608, 000 NB4

705 O3 R4 2,607,936 2, 608, 000 NB4

02 Ol==3z0lXt&ate 2,607,936 2,608, 000 AB4
OsglIst=3 0I&& 65 198,400, 000& *4% = 2,607,936

SEIHLESA X2 1, 300, 000 1, 200, 000 100, 000

309 BB AHEZ 1, 300, 000 1,200, 000 100, 000

02 ZBA-SHILUNEZ 1, 300, 000 1, 200, 000 100, 000
OSLILSA X = 1, 300, 000




